et ZitEiaEe (BRHA) FiE%E BRA)
REH A5 5 smec TDETEETR He = BIEAE
= e Bl X5
Nk 1979.2.10 1,006 1,006 751 254 100.0% =
FERYIE 1979.6.29 2,131 618 214 351 91.3%| KEEZH
FEREE 1979.6.29 1,047 896 255 641 100.0%| KEBEZS
E RS 1981.2.2 204 204 53 34 42.6%| KEBEZS
FNNEESS 1981.9.24 102 102 21 54 73.2% =
LSEEES 1982.7.14 602 602 430 172 100.0% =
i == 1982.9.10 340 340 165 175 100.0% =
HEE = 1989.2.13 515 491 110 340 91.8% =
KEES 1990.2.20 2,181 2,181 1,915 266 100.0% =
INSEE 1992.12.15 1,513 1,513 529 984 100.0% =
74 LA 2002.11.29 2,487 2,354 430 1,924 100.0% =
REREXII)V 2004.1.7 13,343 11,627 3,966 6,178 87.2%| KREEZH
(&3] 25,471 21,934 8,839 11,373 — —
5 2,123 1,828 737 948 92.1% —




